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NEW QUESTION 1
Which one of the following describes classification methods for architecture and solution artifacts within the Architecture Repository?

A. Architecture Landscape
B. Architecture Vision
C. Enterprise Continuum
D. Governance Log
E. Standards Information Base

Answer: C

NEW QUESTION 2
Which one of the following statements best describes why the ADM should be adapted?

A. To align it closer to the business
B. To make the use more realistic
C. To move through the cycle faster
D. To suit the specific needs of the enterprise

Answer: D

NEW QUESTION 3
Which of the following TOGAF components was created to enable architects to design architectures addressing Boundaryless Information Flow?

A. The Architecture Repository
B. The Enterprise Continuum
C. The Integrated Information Infrastructure Model
D. The TOGAF Technical Reference Model

Answer: C

NEW QUESTION 4
Which one of the following best describes a primary use of the Architecture Vision document?

A. A checklist for compliance reviews
B. An evaluation tool to select vendors to conduct a proof of concept demonstration
C. A tool for calculating detailed cost estimates
D. A tool for project planning the implementation activities
E. A tool for selling the benefits of the proposed capability to stakeholders

Answer: E

NEW QUESTION 5
Which pair of the following responses best completes the sentence? Architecture building blocks , where as Solution Building blocks

A. are assembled; are single function components
B. are single function components; are groups of architecture building blocks
C. are reusable; are not reusable
D. define the architecture; provide the existing legacy system
E. define functionality; define the implementation of functionality

Answer: E

NEW QUESTION 6
Which one of the following is NOT part of the approach to Phase H – Architecture Change Management?

A. Business Scenarios
B. Capacity Measurement
C. Change Management
D. Measuring Business Growth

Answer: A

NEW QUESTION 7
In which ADM phase are the business principles, business goals and strategic drivers first validated?

A. Preliminary Phase
B. Phase A
C. Phase B
D. Phase H
E. Requirements Management Phase

Answer: B
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NEW QUESTION 8
Which of the following reasons best describes why the ADM numbering scheme for versioning output is an example and not mandatory?

A. To show the evolution of deliverables
B. To permit adaptation as required
C. To enable use with the Architecture Content Framework
D. To support change management

Answer: B

NEW QUESTION 9
According to TOGAF, Which of the following best describes the purpose of the Architecture Definition Document?

A. An agreement between development partners and sponsors on the deliverables
B. A description to allow measurement of the compliance of the implementation
C. A description to communicate the intent of the architect
D. A document that triggers the start of an architecture development cycle
E. A set of general rules and guidelines

Answer: C

NEW QUESTION 10
Which one of the following does TOGAF Part VII recommend in order to implement an Enterprise Architecture Capability?

A. Develop an Architecture Roadmap
B. Populate the Architecture Repository
C. Populate the Enterprise Continuum
D. Use the Architecture Development Method
E. Use the Implementation Governance Phase

Answer: D

NEW QUESTION 10
Gap Analysis is a technique used in Phases B, C, D and E.Which one of the following statements best describes the gap analysis technique?

A. It highlights areas of stakeholder concern
B. It highlights the impacts of change
C. It highlights services that are yet to be developed
D. It highlights services that are available
E. It highlights different viewpoints

Answer: C

NEW QUESTION 14
Complete the sentence. All of the following are parts of the conceptual structure of the TOGAF Architecture Governance Framework, except

A. Content
B. Context
C. Process Flow Control
D. Repository
E. Vision

Answer: E

NEW QUESTION 16
Which of the following architectures in the Architecture Continuum contains the most re- usable architecture elements?

A. Common Systems Architectures
B. Foundation Architectures
C. Industry Architectures
D. Organization-Specific Architectures

Answer: B

NEW QUESTION 18
Which one of the following is an objective of the Preliminary Phase of the ADM?

A. To define the Baseline Architecture for this cycle of the ADM
B. To define the application systems for the Target Architecture
C. To define the framework and methodologies to be used
D. To define the relevant stakeholders and their concerns
E. To define and prioritise work packages

Answer: C
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NEW QUESTION 22
Complete the sentence by selecting the applicable pair of words. According to TOGAF, a/an is used to describe the of a stakeholder.

A. activity model, perspective
B. viewpoint, requirements
C. view, concerns
D. Node Connectivity Diagram, interconnections
E. Architecture trade-off analysis, constraints

Answer: C

NEW QUESTION 25
Which of the following is a re-usable artifact that is used to create architecture models addressing stakeholder concerns?

A. Catalog
B. Matrix
C. Diagram
D. View
E. Viewpoint

Answer: E

NEW QUESTION 30
Which of the following describes the TOGAF classification in Phase H for a simplification change?

A. A change driven by a requirement to derive additional value from the existing investment
B. A change driven by a requirement to increase investment in order to create new value for exploitation
C. A change driven by a requirement to reduce investment
D. A change driven by a requirement to re-align with the business strategy
E. A change driven by a requirement to simplify communication between stakeholders

Answer: C

NEW QUESTION 32
Complete the sentence. In the Preliminary Phase, all of the following are part of preparing the organization to undertake successful enterprise architecture, except .

A. defining architecture principles
B. defining relationships between management frameworks
C. defining the enterprise
D. evaluating the enterprise architecture maturity
E. identifying stakeholders and their concerns

Answer: E

NEW QUESTION 33
Which of the following best describes the Integrated Information Infrastructure Reference Model?

A. It can be used to determine the capability level of an enterprise
B. It is a deliverable from Phase A
C. It is an Application Architecture Reference Mode!
D. It provides a conceptual structure for architecture governance
E. It supports all the Common Systems Architectures

Answer: C

NEW QUESTION 35
According to TOGAF, Which of the following define general rules and guidelines for the use of assets across the enterprise?

A. Architecture principles
B. Business scenarios
C. Functional Requirements
D. Procurement policies
E. Stakeholder concerns

Answer: A

NEW QUESTION 40
Complete the sentence. TOGAF 9 Part III provides a set of resources that can be used to adapt and modify the .

A. Architecture Capability
B. Architecture Development Method
C. Architecture Landscape
D. Architecture Repository
E. Enterprise Continuum

Answer: B
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NEW QUESTION 44
Which of the following best describes the purpose of the Statement of Architecture Work?

A. It contains an assessment of the current architecture requirements
B. It defines the scope and approach to complete an architecture project
C. It is sent from the sponsor and triggers the start of an architecture development cycle
D. It provides a high-level aspirational view of the end architecture project
E. It provides a schedule for implementation of the target architecture

Answer: B

NEW QUESTION 47
Which one of the following best describes an Architecture Compliance Review?

A. A review of an architecture project against established criteria and business objectives
B. A review of the plans for enterprise transformation
C. A review of the ability to share information and services
D. A review of the readiness of an organization to accept change
E. A review to highlight the shortfall between baseline and target architectures

Answer: A

NEW QUESTION 48
Which of the following does TOGAF describe as "a formal description of a system, or a detailed plan of the system at component level to guide its
implementation"?

A. Architecture
B. Artifact
C. Deliverable
D. Model
E. View

Answer: A

NEW QUESTION 49
Which section of the TOGAF template for defining principles should highlight the requirements for carrying out the principle?

A. Implications
B. Name
C. Rationale
D. Statement

Answer: A

NEW QUESTION 53
Which of the following best describes an approach for adapting the ADM in the situation where business principles dictate that a packaged solution be used?

A. Completion of the Business Architecture should follow the Information Systems Architecture
B. Create an Architecture Vision and then a detailed Business Architecture
C. Produce a "cut-down" version of the ADM suitable to the resources available
D. Tailor the ADM in conjunction with another architecture framework that has deliverables specific to the vertical sector
E. Tailor the ADM to reflect the relationships with, and dependencies on other management processes within the organization

Answer: A

NEW QUESTION 55
Complete the sentence. The Architecture Landscape is divided into three levels, Capability,
Segment, and .

A. Baseline
B. Solution
C. Strategic
D. Target
E. Transition

Answer: C

NEW QUESTION 57
In which phase of the ADM cycle do building blocks become implementation-specific?

A. Phase A
B. Phase B
C. Phase C
D. Phase D
E. Phase E
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Answer: E

NEW QUESTION 60
A key step in validating a proposed target architecture is to consider what may have been forgotten. What technique does TOGAF recommend to address this
issue?

A. Business Transformation Readiness Assessment
B. Business Value Assessment Technique
C. Capability-Based Planning
D. Communications and Stakeholder Management
E. Gap Analysis

Answer: E

NEW QUESTION 65
In the Solutions Continuum, Which of the following is the correct order of solutions ranging from generic solution to enterprise specific solution?

A. Foundation, Common Systems, Industry, Organization-Specific
B. Industry, Foundation, Common Systems, Organization-Specific
C. Organization-Specific, Industry, Common Systems, Foundation
D. Organization-Specific, Industry, Foundation, Common Systems

Answer: A

NEW QUESTION 69
Complete the sentence. The Requirements Management process is used to .

A. develop requirements for Transition Architectures that deliver business value
B. dispose of, address and prioritize architecture requirements
C. organize architecture requirements throughout the ADM cycle
D. review business requirements
E. validate requirements between ADM phases

Answer: C

NEW QUESTION 74
What part of the Architecture Repository shows the building blocks that are currently in use within the organization?

A. Architecture Landscape
B. Architecture Metamodel
C. Governance Log
D. Reference Library
E. Standards Information Base

Answer: A

NEW QUESTION 76
Which one of the following best describes the next step in an Architecture Compliance Review once the scope of the review has been determined?

A. Interview the project principals to obtain background information
B. Prepare the Architecture Compliance Review report
C. Schedule the Architecture Review meeting
D. Send the assessment report to the Architecture Review co-ordinator
E. Tailor the checklists to address business requirements

Answer: E

NEW QUESTION 81
Complete the sentence: Building Blocks that are viewed as being at the left-hand side of the Solutions Continuum are known as .

A. Common Systems Solutions
B. Foundation Solutions
C. Industry Solutions
D. Organization-Specific Solutions
E. Strategic Solutions

Answer: B

NEW QUESTION 82
Which ADM phase starts with the receipt of a Request for Architecture Work from the sponsoring organization?

A. Phase A
B. Phase B
C. Phase H
D. Preliminary Phase
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E. Requirements Management

Answer: A

NEW QUESTION 85
Which of the following best describes a purpose of the Business Scenarios technique?

A. To catch errors in a project architecture early
B. To guide decision making throughout the enterprise
C. To help identify and understand requirements
D. To highlight shortfalls between the baseline and target architectures
E. To mitigate risk when implementing an architecture project

Answer: C

NEW QUESTION 86
According to TOGAF, Which of the following terms describes people who have key roles in, or concerns about, a system?

A. consumer
B. CxOs
C. lead architect
D. sponsor
E. stakeholder

Answer: E

NEW QUESTION 89
Complete the sentence. All of the following describe a purpose of an Architecture Compliance review, except .

A. determining the technical readiness of a project
B. ensuring the application of best practices
C. identifying business transformation risks for an architecture project
D. identifying errors in an architecture project
E. identifying where architecture standards require modification

Answer: C

NEW QUESTION 94
Complete the sentence. A gap analysis will enable the architect to do all of the following except .

A. identify building blocks that have been inadvertently omitted
B. identify building blocks that have been intentionally eliminated
C. identify building blocks to be carried over
D. identify new building blocks that are needed
E. identify potential vendors to provide new building blocks

Answer: E

NEW QUESTION 95
Which model within TOGAF is closely related to the concept of Boundaryless Information Flow?

A. The ARTS data model
B. The Architecture Governance Framework
C. The Enterprise Continuum
D. The Integrated Information Infrastructure Model
E. The TOGAF Technical Reference Model

Answer: D

NEW QUESTION 98
Complete the sentence. TOGAF covers the development of four architecture domains, Application, Business, Data and .

A. Capability
B. Segment
C. Technology
D. Transition
E. Vision

Answer: C

NEW QUESTION 101
Which of the following is described by the TOGAF Architecture Content Framework as a type of artifact that shows lists of things?

A. Building Block
B. Catalog
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C. Diagram
D. Matrix
E. Deliverable

Answer: B

NEW QUESTION 104
In which ADM phase is the Implementation and Migration Plan coordinated with other frameworks?

A. Phase A
B. Phase E
C. Phase F
D. Phase G
E. Phase H

Answer: C

NEW QUESTION 106
Complete the sentence: TOGAF provides a set of reference materials for establishing an architecture function within an organization known as the .

A. Architecture Capability Framework
B. Architecture Content Framework
C. Architecture Landscape
D. Architecture Repository
E. Architecture Roadmap

Answer: A

NEW QUESTION 111
According to TOGAF, how is the Enterprise Continuum used in organizing and developing an architecture?

A. To aid communication and understanding between architects
B. To coordinate with the other management frameworks in use
C. To describe how an architecture addresses stakeholder concerns
D. To evaluate how best to develop and implement an architecture
E. To help identify and understand business requirements

Answer: A

NEW QUESTION 112
Which of the following best describes the meaning of "Initial Level of Risk" in Risk Management?

A. The categorization after implementation of mitigating actions
B. The categorization after initial risk assessment
C. The categorization after mitigation and residual risk assessment
D. The categorization before determining and implementing mitigating actions
E. The categorization before risk identification

Answer: D

NEW QUESTION 115
Which of the following does TOGAF describe as a package of functionality defined to meet business needs across an organization?

A. An application
B. An architecture viewpoint
C. A building block
D. A deliverable
E. A solution architecture

Answer: C

NEW QUESTION 119
Complete the sentence. The Architecture Development Method produces content to be stored in the Repository, Which is classified according to the .

A. ADM Guidelines and Techniques
B. Architecture Capability Framework
C. Architecture Capability Model
D. Enterprise Continuum
E. Standards Information Base

Answer: D

NEW QUESTION 122
Which phase of the ADM establishes a set of Principles?
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A. Preliminary Phase
B. Phase A
C. Phase D
D. Phase G
E. Phase H

Answer: A

NEW QUESTION 126
According to TOGAF, in which phase of the ADM should an initial assessment of business transformation readiness occur?

A. Preliminary Phase
B. Phase A
C. Phase B
D. Phase F
E. Phase G

Answer: B

NEW QUESTION 129
......
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